Q-1

Enrollment No: Exam Seat No:

C.U.SHAH UNIVERSITY
Winter Examination-2018

Subject Name: Analog Communication
Subject Code: 2TEO3ACM1 Branch: Diploma (EC)

Semester: 3 Date: 04/12/2018 Time: 02:30 To 05:30 Marks: 70
Instructions:

(1) Use of Programmable calculator & any other electronic instrument is prohibited.

(2) Instructions written on main answer book are strictly to be obeyed.

(3) Draw neat diagrams and figures (if necessary) at right places.

(4) Assume suitable data if needed.

Attempt the following questions:
a) Low frequency noise is

A) Transit time noise B) Flicker noise C) Shot noise D) None of the above
b) Noise is added to a signal in a communication system

A) Atthereceivingend B) At transmitting antenna C) In the channel

D) During regeneration of the information
c) The noise temperature at a resistor depends upon

A) Resistance value B) Noise power C) Bothaandb D) None of the above
d) Change in amplitude of the carrier according to modulating signal is called

A) FM B) PMC) AM D) None
e) Change in frequency of the carrier according to modulating signal is called
A) FM B) PMC) AM D) None

f)  The amount of data transmitted for a given amount of time is called

A) BandwidthB) Frequency C) Noise D) Signal power
g) For low level modulation, amplifier used is

A) ClassA B) ClassC C) ClassA&C D) None of the above
h) Bandwidth required in SSB-SC signal is

A) 2fm B)<2fm C)>2fm D) fm
i)  The sharing of a medium and its link by two or more device is called

A) Modulation B) amplification  C) multiplexing D) line discipline
j)  For over modulation, the value of modulation index m is

A)m<1 Bym=1 C)m>1 D) Not predetermined
k) Types of analog modulation are:

A) AM B) FMC) PMD) All of the above
[)  The noise due to random behaviour of charge carriers is

A) Shot noise B) Partition noise C) Industrial noise D) Flicker noise
m) Thermal noise is also known as

A) Johnson noise B) Partition noise C) Flicker noise D) Solar noise
n) Noise Factor(F) and Noise Figure(NF) are related as
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A) NF=101logio(F) B) F=101logio(NF) C) NF=10(F) D) F=10(NF)

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-6

Q-7

Q-8

()
(b)

()
(b)

()
(b)

()

(b)

()
(b)

()
(b)

()
(b)

Attempt all questions

Draw and explain the block diagram of analog communication system.

What is modulation and demodulation? Explain the need of modulation and
demodulation in detail.

Attempt all questions

What is Amplitude modulation? Derive the expression for AM wave.

What is Modulation index? Derive the equation for total power in Am wave in
terms of its modulation index.

Attempt all questions

Draw the block diagram of AM transmitter and explain each block?

Draw and explain circuit diagram and waveforms high power transistor AM
modulator.

Attempt all questions

Draw and explain circuit diagram and waveforms of single transistor Low level
(emitter) AM Modulator.

Describe the generation of SSB wave using phase shift method.

Attempt all questions
Compare NBFM & WBFM in terms of their parameter.
Write note on Ring modulator.

Attempt all questions

Explain the principle of indirect method of generation of FM signal using
relevant diagram.

Explain pre-emphasis and de-emphasis in FM systems.

Attempt all questions

Explain demodulation of FM signal with the help of PLL.
Draw the block diagram of FM receiver and explain each block.
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Q-1

b)

f)

9)

h)

1)

K)

Attempt the following questions:
US| utelcdot A ... 0.

A) 2iPe el ualy  ofl) (BAs cy ) e way  Sl) GURAsAHIL 51
a8l

AAUAR YRUAH RostdHi dlae ............. GRRcUH WA B.

A) Yicdsdl vllaRa vid  ofl) ool YARLL AHA ) Aot sl
HUE Aot Yotoflalot €2t

A AUARAUS UR AU cdAlUHLt............. GUR ALUR AW B.

A) ylask yeat  ofl) dlae Al ) A wa ol e $l) GURscniell S¢S o1l
N sYAZLoL RAA Yosol cllgsoll SEHT 3812 $A......... 8.

A)AsAH o) LRAH  {)AAH ) 8 o1l

W sYAZLoL RotA Yosol cllgsoll lcldoti 3512 5. 8.

A)AsAH o) LRAH ) AAH Sl 8 o1l

WAA AHA M2 YR €A Satoll dvaul............ sdCUHL A B.

A) AoslAsa ofl) (Bsaerll ) Ass  Sl) Roetcd uleR

oA AR WSYAAAHR........... AnclslaRall Guallol L 8.

A)colA o) colll ) colAwA A Sl GuASAHi 5185 ol
AUBAA{-AUA RootAMl vULcus AssAsa.......... .

A)2ugAH o) <2AgAH A)>2AgAH Sl) AsAN

As U tAHo{l ad UL U Aoll (As A wecll ay BUSAUEIRL.......... sdcllHL WA
8.

A) WsyAalat o) AbwlEdaet {) u@wsllor  $l) clget @t
HSYALUet GUR HISYALU Bod s A Ho] YEL........... 8.

WyAU<1 ohAu=1 A)Ax>1  3l) ydeavulRd ol

Wl AL HISYAAAA YSIR. ... 0:

W) AAH o) AsAH ) URAH  S1) GURASH i

UL RAAe WS H AR SA S1RAL ... A B,

A) e nally  ofl) wdlatet o vates L) qULedLs wcltes
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1) (552 el

g Ay ... SH ERVEENGITOR

A) Rgototoll dlleite  ofl) widlawet vaue uae ) GAs2 wax
1) AR Ay

dlelle WReo (Ag) el dlele gl (AaAS). ... Ao .
W) WolW s = 10 logyo (Ag)  6ll) 3% = 10 logy, (AN )

) AoANs =10 (A%) 1) A% = 10 (AN %)

Attempt any four questions from Q-2 to Q-8

Q-2

Q-3

Q-4

Q-5

Q-6

Q-7

(@)
(b)

(@)
(b)

(@)
(b)

(@)

(b)

(@)
(b)

(@)

(b)

Attempt all questions
WallAdL 5112f[ A3 2ot RReHoll 6AlS SIAUHA E1RL ol UM

HsyAet Wal (33syAUet Aed 9?7 ([QAatdaRMl HsyAlet ua (syAUstoll
3Rl AHLA.

Attempt all questions

Anleys HisyAet 9 B? ABH dR9l 2wl Gaus 53A.
HsyAAst Sods 9 B2 Aol WSYAet BodsUall Aealrl AM Actii st Al
H2 wHlsel yiid s3.

Attempt all questions
ABUH glotHleell 6Als SLRAUIILH E1R Ul €35 6Clls UHsLA.

A2 stauoUH wUA AdsLA 618 AR 2B AM HsYA2R EIRL Wal A LAl

Attempt all questions

UBe st AU Rboid 2ileRreRell Aas] A dR (RAHleR) AAH HsyAz?
E1RL Aol ULl
dussl Qg2 ugsldell Guallol s3lal AuAU dR0lell Wlej adlet 3.

Attempt all questions

Wolo{lAgAH wal selfollgAH{l Aroll URHIBNLU Aeelul AuHRll s3A.
Aol HWsYARR UR &5 ol cAul.

Attempt all questions
Aol staaiHell Gualoal s3lal AgAH RooA olottalclloll uAet usldell

Rgictal oA,

AgAH Rl Yd-eR ua (3-e1R Ameal
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Q-8 Attempt all questions (14)
(@) URAdActell Heedll AgAH Roetctoll SASYAA UHALAL.

(b) AsAH Al cRell 6Alls StUAUH ERL UA €35 6Alsa UHSLAL
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